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Calculation for depreciation 
 

Straight-line method Original cost – Residual value
Useful life  

 or 

 Depreciable amount
Useful life  

 
Reducing/Diminishing balance method 

 
Carrying amount = Original cost – Accumulated depreciation 
 
Annual depreciation expense = Carrying amount × depreciation rate 

 
Preparation of ratios 
 
Ratio Method of calculation 

Profit Profit (after income tax)A

Total revenue  

Debtors collection Average debtors
Net credit sales  × 

365
1  

Inventory/stock turnover 
Cost of sales

Cost of average inventory 

Debt to equity 
Total liabilities
Equity (end)  

Working capital/current Current assets
Current liabilities 

Quick asset/liquidity 
Current assets (excluding inventory and prepayments)

Current liabilities (excluding bank overdraft)  

Rate of return on assets 
Profit before income tax + interest expense

Average total assets  

Times interest earned 
Profit before income tax + interest expense
Interest costs (expensed and capitalised)  

Earnings per ordinary 
share 

Profit (after income tax) – preference dividends
Weighted average number of ordinary shares issued 

Price/earnings 
Market price per ordinary share

Earnings per ordinary share  

Dividend yield 
Annual dividend per ordinary share

Market price per ordinary share  

 
 
A = at the prevailing company rate (e.g. 30%) 
 
Results from calculations may be presented either as a percentage or as a ratio, to two decimal places. 
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Cost volume profit analysis for profit planning 
 
Standard abbreviations include: 

SP = Selling Price  
QS = Quantity Sold 
VC = Variable Costs 

TVC = Total Variable Costs 
FC = Fixed Costs 

TFC = Total Fixed Costs 
TC = Total Costs 

 
 
Basic cost profit concepts 

Profit  = (SP × QS) – [(VC × QS) + TFC] 

TC = TVC + TFC 

Unit cost = 
TC

Number of units 

Net profit = Total revenue  – TC 
 
Break-even is where profit = zero; therefore Total revenue = TC 
 
 
Calculation of contribution margin 
Contribution margin per unit = SP per unit – VC per unit 
or  
Total contribution margin = Total revenue – TVC 
or  

Contribution margin ratio = 
Contribution margin per unit

SP per unit  

 
 
Break-even point for a single product firm 

Break-even point (in units) = 
TFC

Contribution margin 

or  

Break-even point (in sales dollars) = 
TFC

Contribution margin ratio 

 
 
Break-even point in total units in multi-product firm 

Break-even point (in units) = 
TFC

Weighted average contribution margin per unit 
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Weighted average contribution margin 
 
Weighted average 
contribution margin 
per unit 

= ∑(Contribution margin per unit × Sales mix per unit) 

Where ∑ means the sum of a set of numbers 
 

Sales mix = the number of units sold of a given product relative to the total units 
sold by the firm 

   
For example:  If a company sells 6,000 units of product A and 4,000 units of product 

B, the sales mix is 60% A and 40% B 
 
 
Forecast revenue for target net profit 
 
Forecast revenue  
(in sales dollars) = TVC + TFC + Target net profit 
   
Forecast target 
revenue (in units) = TFC + Target net profit

Contribution margin per unit 

 
 
Margin of safety 
 
Margin of safety = Actual or budgeted sales LESS break-even sales 
   

Margin of safety % = Margin of safety in dollars
Total actual/budgeted sales 
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Standard cost accounting and variance analysis 
 
Standard cost per unit  = Standard input quantity allowed per output unit × Standard price per 
input unit 
 
Direct material variance 
 
Price variance  = (Actual Price of input – Standard Price of input) × Actual Quantity of 

input Purchased  
   [i.e. (AP – SP) × AQP] 
  or 
  (Actual Price per input unit × Actual Quantity Purchased) – (Standard 

Price per input unit × Actual Quantity Purchased) 
   [i.e. (AP × AQP) – (SP × AQP)] 
 
Usage variance  = (Actual Quantity of input Issued – Standard Quantity of input Allowed 

for actual output) × Standard Price of input  
  [i.e. (AQI – SQA*) × SP] 
  
SQA formula:  * (Standard Quantity per unit × Actual Output in units produced) 
  SQA = (SQ × AO) 
  or 
  (Standard Price of input × Actual Quantity of input Issued) – 
  (Standard Price of input × Standard Quantity of input Allowed for actual 
  output)  
  [i.e. (SP × AQI) – (SP × SQA)] 
 
Direct labour variances 
 
Rate variance  = (Actual Rate per Direct Labour Hour worked – Standard Rate per Direct 
  Labour Hour worked) × Actual Direct Labour Hours worked  
  [i.e. (AR – SR) × ADLH] 
  or 
  (Actual Rate per Direct Labour Hour worked × Actual Direct Labour Hours 

worked) – (Standard Rate per Direct Labour Hour worked × Actual Direct 
Labour Hours worked) 

  [i.e. (AR × ADLH) – (SR × ADLH)] 
 
Efficiency variance = (Actual Direct Labour Hours worked – Standard Direct Labour Hours 

Allowed for actual output) × Standard Rate per Direct Labour Hour  
  [i.e. (ADLH – SDLHA**) × SR] 
  
SDLHA formula:  ** (Standard Direct Labour Hours allowed per unit × Actual Output in units 

produced) 
  SDLHA = (SDLH × AO) 
  or 
  (Standard Rate per Direct Labour Hour × Actual Direct Labour Hours 

worked) – (Standard Rate per Direct Labour Hour × Standard Direct 
Labour Hours Allowed for actual output)  

  [i.e. (SR × ADLH) – (SR × SDLHA)] 

http://en.wikipedia.org/wiki/Variance_analysis_(accounting)
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Capital budgeting 
 
Net present value (NPV) method (time value of money) 
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Capital budgeting 
 
Net Present Value (NPV) 
 

Present value  = 
Net Cash Flow

(1 + i)n  

i  =  Interest rate 
n = Number of periods 

 
NPV = Present Value of Future Net Cash Flows – Present Value of Cost of Project 
 
 
Payback period 
 
The payback period calculates the period of time needed for any investment to pay for itself. 
This method does not use the time value of money. 
 
The formula, where Annual Net Cash Flows are constant, is: 
 

Payback period = 
Initial cost of investment
Annual Net Cash Flow  

 
Final figures are to be specified in years and months. 
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